EARAROBEEIERT — 2 N— IBISH —F

20135F3A2H (+) 1MEpR#3A

[$57E]

oN=}
EE

‘ [R1&] & ‘ [RERBB] — | & (&) 14000 &

BEN:EEs 16007F ¥5%4%EL (RS
&

[A~&£] 1 7 17,400,000 § 2 7% :7,000,000 @ 3

14,400,000 B

4 7% 12,600,000 57 1,740,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. N = R 122, -2 . . BEE (EX)
1 4 7RILAYYHZX 4 5 557-0 1(_)3 4 36.0 | 106.2 2 (5;653) igﬁ‘iﬁﬂ—
L:7VF% ¥ BNy bO-T =Y Tr—L
SRy N 4 o6 | AEHEBZ 1:22.6 3-4 36.4|103.2| 6 508 | BHFME (ER)
2815\ K7 EIXTF 57.0 @) o |FEER
LHIRT T BTy b B4 Blak
g . 4 5 | EERMEN 1:22.7 13-13 | 35.6(102.3| 3 492 | BRBFIZ (BR)
3|51 ETHT V-2 57.0 (1/2) (<) | EEAE
LZFAT—IE B ATATUHFENZ =REAKS
i # 5 | C. 74—0 1:22.9 6-5 36.4100.3| 5 480 | FHREX (EH)
41111 IFOdA4FI 57.0 (11/2) -2) EEMA T
R:xA1=G7—X B4R T+—%< HET77—L
PS5 5 #H o6 | MEEKHE 1:23.0 12-11 36.0]99.4 | 7 510 | BEBE (FER)
1 ¢ RIE e ER e (=) 57.0 8 Co | B FrFoL—sry
R:va7x BRy TR J—YTr—LA
RS 5 | ERFET 1:23.0 8-9 36.4| 99.4 | 8 502 | mE=LE (RR)
61714 7~/ L1+ 57.0 (74%) (o) | THE
RiBAFTw ML BTILT 4 —% b pa R e
S 4 5 | EHE 1:23.0 1-1 37.1| 99.2 | 4 504 | SERBE (BH)
d > FIREG RN 57.0 (7€) +12) = il#5
L:d—IR7Y2—)b B:YvrFrsao—Fk AR R
. # o5 | K& 1:23. 8-5 36.5| 98.4 | 1 466 | REFRBIE (%)
8 g| ¥/ 7EL>H 57.0 (7€) (-10) | ERER
R:T7vIT—L BALYLIRIZT =igin
[JETONTE 4 6 | AUXTR 1:23.2 10-9 36.5| 97.4 | 12 | 466 |/IE—5H (E#)
9| 1|2 FVFYRTUZ 57.0 ) g | TABE
LA xNTT BFUFHTaT e ]
S & 4 6 | JIBE= 1:23.3 14-14 [ 36.1| 96.5 | 15 | 468 |HMES (Xik)
10|59 | ®ELL Y% 57.0 (172 (g | A
L:d—IkAaqfO— B:ov N4 TF7Xb R R
S5, — it o4 | =RE 1:23.5 6-8 36.9] 94.7 | 10 | 472 |EEEL (FR)
11 6 IR —=TIb—L 55.0 (1 1/2) +2) FEH%
77—k BIRXRY-ETCH puie ]
“ g . o6 | EOEE 1:23.5 15-16 [ 35.2| 94.6 | 16 | 476 |3FEE (ER)
12/8l16| YV —AXFTK=T 57.0 (742%) (1) | EEME
R:vARIELY N BAX /95U F 1 — AHI 77— LI
- 4 . . HAILIBATE 123. 2-2 . . AR (ER)
SH=Y>> 4 6 5/3_0 1(/\3+>5 37.5| 94.7 | 13 :1_828) fpoiond
L:vm7% BYIITINTA—FK gilll IE%E
S # 5 | W Eafv? 1:23.5 5-5 37.1] 945 | 11 490 | RHET (RR)
ALy =A 57.0 (NF) © |HARrE
AN w1 —9 B:hLTY =i BS
N [eE] 50 :23. - . . FEEIEER (FEX)
I—3 Hy 2 [B] G [ R Rt e B A e
R:T7ITxA2¥AL B:ALILH- ESiTie]
N PN FLE—EB : - BEHZ (ER)
2AT 7T o4 2L 1.(223).9 10-11 [ 37.1] 91.0 | 14 (5_0; i
L:7L>FFE2T714 BATIATRE2AL HET7—L
@ 71 L
) 48.4-36.4
NA>Z4 L | 12.2-10.5-11.2-12.0-11.8-11.7-12.9
® I —F—@EBIERL
13=3r=
230—7F—
Gal=7r= 3,12,15,4,5(1,6) (14,8) (2,7)11,10,9=(16,13)
40—5+— [3(12,4)15(1,5,8)6(2,14) (11,7)10,9-13-16

ABICOVWTRDTEEERROODE. TR LIV,




